Advanced Bookkeeping
Practice Assessment 1

Name:Mariam matrook
CPR:970305567
Date:29/6
Assessment information
You have 2 hours to complete this sample assessment.

· This assessment contains 5 tasks and you should attempt to complete every task,

· Each task is independent. You will not need to refer to your answers to previous tasks.

· The total number of marks for this assessment is 100.
· Read every task carefully to make sure you understand what is required.

· Where the date is relevant, it is given in the task data.

· Both minus signs and brackets can be used to indicate negative numbers unless task instructions state otherwise.

· You must us a full stop to indicate a decimal point. For example, write 100.57 not 100,57 or 10057.

· You may use a comma to indicate a number in the thousands, but you don’t have to. For example, 10000 and 10,000 are both acceptable.

· Standard rate of VAT is 20%

Assessment tasks
Task 1 (21 marks)
This task is about non-current assets.

You are working on the accounting records of a business known as AMBR Trading. You may ignore VAT in this task.

The following is an extract from a purchase invoice received by AMBR Trading relating to new equipment for its commercial kitchen:
	To: AMBR Trading
Unit 6, East End Trading Estate
Southgrove HS14 6PW
	Invoice 965270 Katerkit Ltd Cator Way Gatebury
TY6 5VB
	Date: 01 April 20X6

	Item
	Details
	£

	Electric combi-steam oven
	CSO31
	5,565.00

	Colour touch control display
	For CSO31
	999.00

	Floor stand
	For CSO31
	224.00

	Electric portable pasta boiler
	PSB89
	245.00

	Net total
	
	7033.00


The acquisition has been made under a lease agreement.

The following information relates to the sale of some computer equipment no longer used by the business:

	Item description
	Desktop DTC3

	Date of sale
	31 December 20X6

	Selling price
	£180.00


· AMBR Trading has a policy of capitalising expenditure over £500.

· Kitchen equipment is depreciated at 20% per year on a diminishing balance basis.

· Computer equipment is depreciated over four years on a straight-line basis assuming no residual value.
· Depreciation is calculated on an annual basis and charged in equal instalments for each full month an asset is owned in the year.

(a) For the year ended 31 March 20X7, record the following in the extract from the non-current assets register below:
· any acquisitions of non-current assets
· any disposals of non-current assets
· depreciation.
Note:
Not every cell will require an entry, and not all cells will accept entries.

Show your numerical answers to TWO decimal places. Use the DD/MM/YY format for any dates.

	Description/ Serial number
	Acquisiti on date
	Cost
£
	Depreciation charges
£
	Carrying Amount
£
	Funding method
	Disposal proceeds
	Disposal date

	Kitchen equipment
	
	
	
	
	
	
	

	Double door freezer DDF4
	01/04/X4
	1995.00
	
	
	Part- exchange
	
	

	Year end 31/03/X5
	
	
	399.00
	1596.00
	
	
	

	Year end 31/03/X6
	
	
	319.20
	1276.80
	
	
	

	Year end 31/03/X7
	
	
	
	
	
	
	

	Option 1
	
	
	
	
	Option 2
	
	

	Year end 31/03/X7
	
	
	
	
	
	
	

	Computer equipment
	
	
	
	
	
	
	

	Restaurant POS tablet bundle
	01/10/X4
	1380.00
	
	
	Hire purchase
	
	

	Year end 31/03/X5
	
	
	172.50
	1207.50
	
	
	

	Year end 31/03/X6
	
	
	345.00
	862.50
	
	
	

	Year end 31/03/X7
	
	
	
	517.50
	
	
	

	Desktop DCT3
	01/01/X5
	579.84
	
	
	Cash
	
	

	Year end 31/03/X5
	
	
	36.24
	543.60
	
	
	

	Year end 31/03/X6
	
	
	144.96
	398.64
	
	
	

	Year end 31/03/X7
	
	
	Option 3
	Option 4
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(18 marks)
(b) Complete the following sentences.
It is important to obtain prior authority for capital expenditure in order Gap 1. The bank manager Gap 2 be the appropriate person to give this authority.
	Gap 1
	✓

	…to achieve the appropriate level of materiality.
	

	…to comply with international financial reporting standards.
	

	…to ensure that the business as a whole will benefit from the purchase.
	


	Gap 2
	✓

	…would…
	

	…would not…
	


(3 marks)
Task 2 (17 marks)
This task is about ledger accounting for non-current assets.

· You are working on the accounting records of a business for the year ended 31 March 20X7.
· VAT can be ignored.
· A new vehicle has been acquired. It is estimated it will be used for four years.

· The cost was £12,448; this was paid from the bank.

· The business plans to sell the vehicle after four years when its residual value is expected to be
£4,000.
· Vehicles are depreciated on a straight-line basis. A full year's depreciation is applied in the year of acquisition.

· Depreciation has already been entered into the accounting records for existing vehicles.
(a) Calculate the depreciation charge for the year on the new vehicle.
£

Make entries in the accounts below for:
· the acquisition of the new vehicle
· the depreciation charge on the new vehicle.
On each account, show clearly the balance to be carried down or transferred to the statement of profit or loss, as appropriate.

Vehicles at cost
	
	£
	
	£

	Balance b/d
	46300
	Option 3
	

	Option 1
	
	Option 4
	

	Option 2
	
	Option 5
	

	Total
	AUTOSUM
	Total
	AUTOSUM


	Answers
	Option Number

	Balance b/d
	

	Balance c/d
	

	Bank
	

	Depreciation charges
	

	Disposals
	

	Profit or loss account
	

	Purchases
	

	Purchase ledger control account
	

	Sales
	

	Sales ledger control account
	

	Vehicle running expenses
	

	Vehicles accumulated depreciation
	

	Vehicles at cost
	

	<Empty>
	


Depreciation charges
	
	£
	
	£

	Balance b/d
	7575
	Option 3
	

	Option 1
	
	Option 4
	

	Option 2
	
	Option 5
	

	Total
	AUTOSUM
	Total
	AUTOSUM


	Answers
	Option Number

	Balance b/d
	

	Balance c/d
	

	Bank
	

	Depreciation charges
	

	Disposals
	

	Profit or loss account
	

	Purchases
	

	Purchase ledger control account
	

	Sales
	

	Sales ledger control account
	

	Vehicle running expenses
	

	Vehicles accumulated depreciation
	

	Vehicles at cost
	

	<Empty>
	


Vehicles accumulated depreciation
	
	£
	
	£

	Option 1
	
	Balance b/d
	15150

	Option 2
	
	Option 4
	

	Option 3
	
	Option 5
	

	Total
	AUTOSUM
	Total
	AUTOSUM


	Answers
	Option Number

	Balance b/d
	

	Balance c/d
	

	Bank
	

	Depreciation charges
	

	Disposals
	

	Profit or loss account
	

	Purchases
	

	Purchase ledger control account
	

	Sales
	

	Sales ledger control account
	

	Vehicle running expenses
	

	Vehicles accumulated depreciation
	

	Vehicles at cost
	

	<Empty>
	


(12 marks)
The business sold an item of office equipment which originally cost £1,800. The proceeds of £600 were paid into the bank.
(b) Identify the account names in the debit and credit columns to show where the entries for the proceeds will be made.
	Debit
	Credit

	
	

	
	

	
	


	Disposals

	Office equipment at cost

	Bank


(2 marks)
(c) Show the journal entries required to remove the original cost of the equipment from the general ledger.
	Account
	Amount
£
	Debit
✓
	Credit
✓

	Option 1
	
	
	

	Option 2
	
	
	


	Answers
	Option Number

	Bank
	

	Depreciation charges
	

	Disposals
	

	Office equipment accumulated depreciation
	

	Office equipment at cost
	

	Profit or loss account
	

	Purchases
	

	Purchase ledger control account
	

	Sales
	

	Sales ledger control account
	

	Sales returns
	

	Suspense
	

	Vehicles accumulated depreciation
	

	Vehicles at cost
	

	<Empty>
	


(3 marks)
Task 3 (19 marks)
This task is about ledger accounting, including accruals and prepayments, and applying ethical principles.

(a) Enter the figures given in the table below in the appropriate trial balance columns. Do not enter zeros in unused column cells. Do not enter any figures as negatives.
Extract from the trial balance as at 31 March 20X7
	Ledger
Account
Balance
	Trial balance

	
	£
£ Dr
	£ Cr

	Accrued expenses
	850
	

	Carriage inwards
	2240
	

	Discounts allowed
	1420
	

	Prepaid income
	975
	


(2 marks)
You are working on the accounting records of a business for the year ended 31 March 20X7. In this task, you can ignore VAT.
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You are looking at vehicle running expenses for the year.

· The cash book for the year shows payments for vehicle running expenses of £9,468.
· This includes the following payments for road fund licences:

	Road fund licences for the period
	£

	1 Jan – 31 December 20X7
	516

	1 April 20X7 – 31 March 20X8
	405


(b) Calculate the value of the adjustment required for vehicle running expenses as at 31 March 20X7.
£

(3 marks)
Update the vehicle running expenses account. Show clearly:
· the cash book figure
· the year end adjustment
· the transfer to the statement of profit or loss for the year. Vehicle running expenses
	
	£
	
	£

	Prepaid expenses (reversal)
	840
	Option 3
	

	Option 1
	
	Option 4
	

	Option 2
	
	Option 5
	

	Total
	AUTOSUM
	Total
	AUTOSUM


(6 marks)
	Answers
	Option Number

	Accrued expenses
	

	Accrued income
	

	Balance b/d
	

	Balance c/d
	

	Bank
	

	Commission income
	

	Prepaid expenses
	

	Prepaid income
	

	Profit or loss account
	


	Purchases
	

	Purchase ledger control account
	

	Sales
	

	Sales ledger control account
	

	Statement of financial position
	

	Vehicles running expenses
	

	<Empty>
	


You are now looking at commission income for the year. Commission income of £2,070 was accrued on 31 March 20X6.
(c) Complete the following statements:
The reversal of this accrual is dated Option 1 The reversal is on the Option 2 side of the commission income account.
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(2 marks)
· The cash book for the year shows receipts for commission income of £42,805.

· Commission of £1,960 for the month ended 31 March 20X7 was received into the bank on 15 April 20X7.

(d) Calculate the commission income for the year ended 31/03/X7 by completing the table below. If necessary, use a minus sign to indicate ONLY the deduction of an amount from the cash book figure.
	
	£

	Cash book figure
	42,805

	Opening adjustment
	

	Closing adjustment
	

	Commission income for the year ended 31/03/X7
	


(3 marks)
Your junior colleague asks why you are considering the receipt dated 15 April. She is confused as the financial year ended on 31 March.

(e) Which of the following can you use in your explanation to her? You must choose ONE answer for each row.
	Reason for considering the receipt dated 15 April
	Acceptable reason
	Non-acceptable reason

	The proprietor of the business asked you to increase the profit for the year ended 31 March 20X7.
	
	

	The transaction is an expense relevant to the period ended 31 March 20X7.
	
	

	The figure is a current asset as at 31 March 20X7.
	
	


(3 marks)
Task 4 (23 marks)
This task is about accounting adjustments.

You are a trainee accounting technician reporting to a managing partner in an accounting practice. You are working on the accounting records of a business client.
A trial balance has been drawn up and balanced using a suspense account. You now need to make some corrections and adjustments for the year ended 31 March 20X7.

You may ignore VAT in this task.

The allowance for doubtful debts needs to be adjusted to 1% of the outstanding trade receivables.

(a) Refer to the extract from the extended trial balance below. Calculate the value of the adjustment required.
£

(2 marks)
(b) (i) Record this adjustment into the extract from the extended trial balance below.
(ii) Make the following further adjustments.
You will NOT need to enter adjustments on every line. Do NOT enter zeros into unused cells.
· Purchases of £984 have been posted to the office expenses account in error.

· A prepayment of £450 for air fares has been posted correctly on the credit side. There was no corresponding debit entry. These costs are classified as sales expenses.

· The plant at cost account in the general ledger correctly shows a balance of £24,500. This has been incorrectly transferred to the trial balance as £25,400.

	Ledger account
	Ledger balances
	Ledger adjustments

	
	Dr
£
	CR
£
	Dr
£
	CR
£

	Allowance for doubtful debts
	
	225
	
	

	Allowance for doubtful debts - adjustments
	
	
	
	

	Bank
	2815
	
	
	

	Irrevocable debts
	390
	
	
	

	Office expenses
	116310
	
	
	

	Plant at cost
	25400
	
	
	

	Plant accumulated depreciation
	
	12250
	
	

	Prepaid expenses
	505
	
	
	

	Purchases
	108265
	
	
	

	Purchase ledger control account
	
	9622
	
	

	Rent
	14800
	
	
	

	Sales
	
	188748
	
	

	Sales expenses
	8606
	
	
	

	Sales ledger control account
	17900
	
	
	

	Suspense
	
	450
	
	


(14 marks)
(c) Show the journal entries that will be required to close off the rent account for the financial year end and select an appropriate narrative.
	
	Dr
£
	Cr
£

	Option 1
	
	

	Option 2
	
	


	Answers
	Option Number

	Allowance for doubtful debts
	

	Allowance for doubtful debts - adjustment
	

	Bank
	

	Irrevocable debts
	

	Office expenses
	

	Plant at cost
	

	Plant accumulated depreciation
	

	Prepaid expenses
	

	Profit or loss account
	

	Purchases
	

	Purchase ledger control account
	

	Rent
	

	Sales
	

	Sales expenses
	

	Sales ledger control account
	

	Statement of financial position
	

	Suspense
	

	<Empty>
	


	Narrative
	✓

	Closure of general ledger for the year ended 31 March 20X7
	

	Closure of rent account to the suspense account
	

	Transfer of rent for year ended 31 March 20X7 to the statement of financial position
	

	Transfer of rent for year ended 31 March 20X7 to the profit or loss account
	


(4 marks)
Your manager has now reviewed the resulting figures in the draft accounts. He is concerned that the client may have significantly understated the irrecoverable debt figure, and this will need further investigation. You know that the client is pressuring to get the final accounts completed for what she describes as an important meeting for the future of the business. Any further investigation will mean her deadline cannot be met.

(d) What should you and your manager do next, and why?
	
	✓

	Investigate the collectability of debts and delay completion of the accounts, as any adjustment could affect the outcome of the meeting.
	

	Investigate the collectability of debts and delay completion of the accounts because the client will have overstated the importance of the meeting.
	

	Complete the accounts by the deadline without any further adjustment, as any change is unlikely to be relevant to the meeting.
	

	Complete the accounts by the deadline without any further adjustment because the client’s needs must take priority.
	


(3 marks)
Task 5 (20 marks)
This task is about period end routines, using accounting records, and the extended trial balance. You are preparing the bank reconciliation for a sole trader as at 31 March 20X7.

The bank statement is showing an overdrawn balance of £1,930. The cash book is showing a debit balance of £2,407.

The bank statement has been compared with the cash book and the following points noted:

	1.
	A remittance advice from a customer has been received and an entry made in the cash book for the correct amount of £734. This is not yet showing on the bank statement.

	2.
	A cheque from a customer for £367 for a debt outstanding at the year end was received in April 20X7.

	3.
	A faster payment of £2,174 for the purchase of a non-current asset is showing on the bank statement but has not been entered in the accounting records.

	4.
	The bank has made an error. On the last day of the month, a payment of £1,087 on the statement was duplicated.

	5.
	A direct debit payment of £422 has been recorded in the accounts as £222.

	6.
	Interest charges of £142 have not been entered in the cash-book.


(a) Use the following table to show the THREE items that should appear on the cash book side of the reconciliation. Enter only ONE figure for each line. Do not enter zeros in unused cells.
	Adjustment
	Dr
£
	Cr
£

	Option 1
	
	

	Option 2
	
	

	Option 3
	
	


	Answers
	Option Number

	Adjustment 1
	

	Adjustment 2
	

	Adjustment 3
	

	Adjustment 4
	

	Adjustment 5
	

	Adjustment 6
	


(6 marks)
(b) Which of the following statements about the net pay control account is TRUE?
The net pay control account…

	
	✓

	...is a summary of memorandum accounts for each employee.
	

	…should have a balance of zero when all relevant entries have been correctly made.
	

	...will always be accurate when the bank reconciliation has been completed.
	

	…should include individual entries for gross pay due to each employee.
	


(3 marks)
You are now working on the accounting records of a different business. You have the following extended trial balance. The adjustments have already been correctly entered.

(c) Extend the figures into the statement of profit or loss and statement of financial position columns. Do NOT enter zeros into unused column cells. Complete the extended trial balance by entering figures and a label in the correct places.
	Ledger account
	Ledger balances
	Adjustments
	Statement of profit or loss
	Statement of financial position

	
	Dr
£
	CR
£
	Dr
£
	CR
£
	DR
£
	CR
£
	DR
£
	CR
£

	Bank
	
	958
	
	75
	
	
	
	

	Capital
	
	11000
	
	
	
	
	
	

	Costing inventory
	
	
	9930
	9930
	
	
	
	

	Depreciation charges
	3895
	
	
	
	
	
	
	

	Equipment at cost
	20162
	
	
	689
	
	
	
	

	Equipment accumulated depreciation
	
	15579
	
	
	
	
	
	

	Interest paid
	63
	
	75
	
	
	
	
	

	Loan
	
	6566
	1085
	
	
	
	
	

	Office expenses
	22495
	
	689
	290
	
	
	
	

	Opening inventory
	10058
	
	
	
	
	
	
	

	Payroll expenses
	20825
	
	
	
	
	
	
	

	Prepayments
	
	
	290
	
	
	
	
	

	Purchases
	79454
	
	
	
	
	
	
	

	Purchase ledger control account
	
	13167
	
	
	
	
	
	

	Sales
	
	126139
	
	485
	
	
	
	

	Sales ledger control account
	16979
	
	
	
	
	
	
	

	Suspense
	600
	
	485
	1085
	
	
	
	

	VAT
	
	1122
	
	
	
	
	
	

	Option 1
	
	
	
	
	
	
	
	

	Total
	174531
	174531
	12554
	12554
	0
	0
	0
	0


	Option 1
	✓

	Profit/loss for the year
	

	Suspense
	

	Balance b/d
	

	Balance c/d
	

	Gross profit/loss for the year
	


(11 marks)
Option 1�
✓�
�
Desktop DTC3�
�
�
Freezer DDF4�
�
�
Electric Oven CSO31�
�
�
Pasta boiler PSB89�
�
�






Option 2�
✓�
�
Cash�
�
�
Lease agreement�
�
�
Hire purchase�
�
�
�
�
�






Option 3�
✓�
�
0.00�
�
�
99.66�
�
�
108.72�
�
�
144.96�
�
�






Option 4�
✓�
�
0.00�
�
�
253.68�
�
�
289.92�
�
�
298.98�
�
�









Business policy: accounting for accruals and prepayments





An entry is made into the income or expense account and an opposite entry into the relevant asset or liability account. In the following period, this entry is reversed.





Option 1�
✓�
�
31 March 20X6�
�
�
1 April 20X6�
�
�
1 April 20X7�
�
�






Option 2�
✓�
�
Credit�
�
�
Debit�
�
�









